1.

O 66°

@ 67°

® 68°

@ 69°

® 70°



& 714 CD £ €91 0 9] 4

£0]3 ABLTD |t} TP = 2cm

, OD = 8em & uj, AP o] 70|
?

rr

@ 5cem @ 2+7cm
@ 6cm ® 4vV3cm

® 4+2cm



3. The Z-A ko] e FaE?

@ 15 @ 12 @ 9
@ 8 ® 5




o3 I3} Zo] A& CD 9 53 M oA A& AB 2 CD 7} ¥t}
Yl A A, B, C, D7} € 1ol & ©ff, A& AM 9] dol=? (&
AB = 13cm , AM>BM )

El

A
M
C — — D
T~~6em--" wﬁl
B
@ 4cm @ 5Hem ® 4cm E+ 9cm

@ 4cm T+ 5em ® 9cm



@ /DCA = /CBA @ DC’=AD-DE

® AC =AB-AD @ /CAD = /ACD

® /BAC = /CAD



ohe 2ol QA TT Ol B0 o b o
Hol, A P L= 910 44 ©, BPT
o] 2729

(@)

® 40° @ 45° ® 50° @ 55° ® 60°



7. oE O2"lA AA AT £ 90 o Aol A A = I Holo.
(x+ Ly O] Fhe FHotd?

@® 140° @ 148° ® 152° @ 160° ® 164°



8. O IdYA CD=3,DP=1,PE=2¢% o, EF 9| Zdo]=?




@ 4 ®5 @ 6 ®7

@ 3



10. o2 294 PT & §EAE2] Zol7t V3em 91 ¢ O o] FAlo|x
PT =2cm ¥ 1], AB ¢] Zdo]=?

@ 3cm @ 4cm ® 5em @ 6cm ® 7cm



11.

O
>,
rx
o
k1
e
o8
|
N
o=
™
Il
(@)
me

D 3v3 @5v2 @ 6V3
@ 8v2 B 93




12. thg 794 ABLCD ol AB, .

<D o @4 P of dlstel OP ‘
3cm, CP = 3v2cm € o, & O 3 2cm
o] Wol? A ¢
3cm
D
@ 27rcm? @ 36mcm? ® 45rcm?

@ 54mem? ® 647mcm?






14. o2 IHA 24 PT & ¥ 0 o HAlo]
I PA=3AB=9,AT =4 < o, BT ¢
dol=?

@ 5 @ 8 ® 12
@ 15 ® 17




15. thg IelH PTE €0 o 440lT, p
T Aol x o ghe FohE?

® 64 @ 6.5 ® 6.6
@ 7 ® 75




X




17.

oS I gol A 9ol = H A, B
oA 112 FA90 ¥ P 2 oAt
(APB =40° € o, /x 9] 27]=?

@® 90° @ 95° ® 105°

@ 110°

® 120°



18.

O 19 4O oA M2 3 AB 9 P M Q

F011 PQE Aot LAEC =50° ¢ (‘
o, /D ©] 379 A B

® 10° @ 20° ® 30° @ 40° ©® 50°



19.

02 1A AB = F 99 353 0]
I, 099 ACDY A0 AEFS
2 P77} AB 99 Ut PE = 4c¢

E m,
PF = 12cm, PC = 3cm ¥ o, PD 9

Polg Potolet.

@D 10cm @ 12cm ® 14cm

@ 16cm ® 18cm

A

i

3

F



20.

[
> o
i)
i
S
e
@)
10
o
i
1o
et

o
AP eld E A4e 10 90 9
.

T de 27 A, B, C, D 2t Sk,
O oA AB o W 49 Hg

F 2} sttt PA = 6cm , PC = 8cm

@ 8mcm

® 327cm




